Q12: Parallel Circuit

[image: image1.jpg]


Consider the circuit shown below, with a battery and three identical light bulbs, and a switch connecting the third bulb to the circuit. Initially, the switch is open. Now, we are going to close the switch. Which of the following statements are true when the switch is closed (compared to the initial state, when the switch was open)?



1) (T/F) Bulb #1 does not change in intensity.


2) (T/F) The total power dissipated in the circuit does not change.


3) (T/F) The current through the battery increases.


4) (T/F) Bulb #3, which was initially on but dim, now glows brighter.


5) (T/F) The voltage across bulb #1 decreases.








